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Title:	[Draft] LS on byte-alignedment of upper layer data SDU to CT1	Comment by Lenovo: No need to have “to CT1” in the LS title. For clarity we suggest to change to title to:

“LS on byte-aligned upper layer data SDU”	Comment by Yi2-xiaomi: Agree with Lenovo, “to CT1” shall be removed.	Comment by Ericsson: Agree with Lenovo, i.e., “to CT1” should be removed.	Comment by vivo(Boubacar): ok	Comment by QC (Umesh): Minor suggestion: I think ‘LS on byte-alignment of upper layer data SDU’ would sound better.	Comment by vivo(Boubacar): ok
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Work Item:	Ambient_IoT_solutions

Source:	vivo [to be RAN2]
To:	CT1
[bookmark: OLE_LINK45][bookmark: OLE_LINK46]Cc:	RAN31, SA2	Comment by CATT (Jianxiang): There is no agreement on Cc RAN1 and this LS on byte-aligned SDU is irrelative with RAN1.	Comment by QC (Umesh): It seems good to let RAN1 know about it without any action to them, so CC RAN1 looks ok to us. 	Comment by vivo(Boubacar): As Umesh explains, it is better to keep RAN1 CCed. I do not see any negative impact to inform RAN 1 in CC.	Comment by Huawei_Rui Wang: We tend to agree with CATT the intention of this LS is mainly to check CT1’s view. 
If there is no action from RAN1 expected, maybe no need to cc RAN1 as well.	Comment by Lenovo: We are ok to have RAN1 in cc: Agreement #3 matters to RAN1.	Comment by Futurewei (Yunsong): We agree with CATT and Huawei that upper layer SDU byte-alignment is irrelevant to RAN1. CC’ing them will add undue burden to them in their final meeting (expecting to be a busy one for them) for R19 AIoT WI. If we want to inform them that we have assumed TBS in the unit of byte, we’d send another LS specific to RAN1 (or due to lack of time, delegates should inform their RAN1 colleagues internally).

Instead RAN1, we could CC RAN3 here, given they are responsible for the NGAP signaling for carrying the new AIoT NAS PDUs. 	Comment by vivo(Boubacar): As there is still some concern on CC to RAN1, we can just remove “CC RAN1” and focus on CT1.

Contact person:			Kimba Dit Adamou, Boubacar
			kimba@vivo.com
	
Send any reply LS to:	3GPP Liaisons Coordinator, mailto:3GPPLiaison@etsi.org

Attachments:	-

1	Overall description
RAN2 has discussed the AIoT MAC PDU format design, and RAN2 has made the following agreedments: the 	Comment by QC (Umesh): See suggestion to edit in next comment.	Comment by Yi2-xiaomi: We may simplify the sentence “RAN2 has made the agreement to assume that for both R2D message and D2R message the upper layer data SDU to be contained in the AIoT MAC PDU is byte-aligned.
“ as
RAN2 has agreed the assumption that for both R2D message and D2R message the upper layer data SDU to be contained in the AIoT MAC PDU is byte-aligned.
	Comment by vivo(Boubacar): ok
Agreements on MAC PDU format 
The MAC PDU should be byte-aligned, assuming the allocated TBS value is in the unit of byte.  The actual TBS value depends on RAN1.   FFS for R2D trigger message	Comment by CATT (Jianxiang): The 1st and 3rd bullet on TB size is irrelative with this LS to CT1 which may make CT1 confused. Shall we remove them?	Comment by QC (Umesh): It depends on whether we keep CC RAN1. If we don’t CC RAN1, we can also remove agreement #4 and 5. In fact in that case the only relevant part to CT1 and SA2 is the yellow highlighted part, so perhaps the whole box of agreement can be removed since the sentence below the box is clear. Or the header sentence can be edited to say “…. and RAN2 has made the agreement to assume that the upper layer data SDU is byte-aligned.” then remove box.

But if we keep CC RAN1, all these agreements seem relevant.	Comment by vivo(Boubacar): Umesh’s understanding is in line with mine for the reason for RAN1 CCed in this draft Ls.
If there is no strong view, I think it would be nice to keep all agreements.	Comment by Huawei_Rui Wang: Agreement #1 and #5 include several RAN2 FFS, which may confuse other WGs indeed. Since there is no key information to other WGs in those agreement, we prefer to remove them to avoid the potential confusion due to the FFS parts.
Then the suggested wording from QC looks good and make things simpler, if we don’t cc RAN1. No strong view though.	Comment by Lenovo: Agree with QC.
RAN2 assumes that the upper layer data SDU is byte-aligned, and an LS can be sent to CT1.
The D2R MAC PDU size will correspond to the TBS size indicated in the R2D message 
The MAC padding is supported at least for D2R from RAN2 perspective.   The device includes padding bits if there is no more data and there is still space available in the TBS.  
In case where MAC PDU includes both MAC SDU and padding, for D2R a field to indicate how many SDU bits are present is required.  FFS how this is provided (i.e. SDU length field or padding length field).  The size of length field is FFS.

RAN2 would like to inform CT1 about RAN2’s assumption that for both R2D message and D2R message the upper layer data SDU to be contained in the AIoT MAC PDU is byte-aligned.	Comment by OPPO - Yumin: Maybe we can clarify that this is “for both R2D message and D2R message”.	Comment by vivo(Boubacar): Fine to me. But, let’s hear for more voice, if any.	Comment by Huawei_Rui Wang: Ok to us.	Comment by ZTE(Eswar): One question for my understanding; does the upper layer data SDU here also include device IDs (we have another LS for this device ID lengths). For instance, the device ID in inventory response…? Is this considered as upper layer SDU and are we saying that such ID lengths should also be byte aligned? Or do companies think that we are talking about data (e.g. command/command response etc)? 	Comment by vivo(Boubacar): From our understanding, the device ID is also part of upper layer SDU content, i.e., Inventory response is also upper layer data. And I do not think there is a need to differentiate the ID and other upper layer data. So, the ID length should also abide by SDU byte alignment in both D2R and R2D directions.	Comment by Futurewei (Yunsong): “contained” -> “to be contained”.

Reason: upper layer data SDU may be segmented to be carried in an AIoT MAC PDU. We have not discussed yet whether segmentation must be byte-aligned or not. 
2	Actions
To CT1:
ACTION: 	RAN2 respectfully asks CT1 to take into account RAN2’s assumption that upper layer data SDU is byte-aligned and provide feedback if there is any concern.	Comment by QC (Umesh): This part is redundant and can be removed.	Comment by vivo(Boubacar): Agree	Comment by QC (Umesh): Minor suggestion, similar to other LSes, perhaps we could just say “provide feedback, if any.’ and avoid the word ‘concern’.	Comment by vivo(Boubacar): ok
3	Dates of next TSG RAN WG2 meetings
TSG RAN2 Meeting #130		19 - 23 May 2025				Malta, EU
TSG RAN2 Meeting #131		25 - 29 Aug 2025				Bangalore, India



